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57 J97-97 H 34 97 & | @HT 97 ST & |
J97-97 il GUsl 8 fquifaa 8- @ue &, &, T, 905 & |
GUE & - 97 G&IT 1 & 21 Fglascdid FHR & Fo7 & | T% o7 1 37 1 3 |
VT W — §v7 G&IT 22 G 27 TY-IFNT JBR & J97 3 | eI 97 3 37 H & |
eI% §97 BT I 60 T 80 5] 7 ferfaw |
GUg - J97 &7 28 & 30 FTH-F1T (LA) IPR & 97 & | Icd% T97 8 3l &7
& | Jeie v HT I 300 T 350 Vgl 7 fo7iEw |

— Y7 &7 81 @ 38 @7 IU-FwHl et Gia-3EiRa I97 & | Iedd Jo
4 3B FTE |
GUE & 97 T&IT 34 FHIGF-STTEIRT 97 & 1574 Haeaqul g aqail 1 qea
3R T I & | T8 97 5 37H] H & | FAGT Hl FT-GIasT & a1 GoiT &1 |
J97-97 7 GuF [hcq 787 1537 =/ 8 | I, @vS &, T a9 g § ARk adHey &
IaEr 1327 7 8 1 Fiensf #1537 3o 7 @ 1 @b J97 H IW fore T 8
$T% 3R, €I & I gheanaa wienmeEl & o7q Biel o7 Frated 37l STemia
el & T W TH 37 JoT 1597 T 8 | F7 ] & I A glecanga wienet &
ford |

@vus <h

(TgferRedta TR & W) 21x1=21
1857 % fogig & Aarsti (g 1) & 39 gt (T 11) & @ gafaa Hifve
IR frfeiRea § 9 @&t fashed o1 =3 i

gl I gl
(741 (%)
1. T EnRe (i)  3m@™
9. PR g (i) HEAER
3.  dINie 3Tl I8 Gii) fosr
4. Torfsa =g (iv) &>
ICEIS I
(A)  1-(iii), 2-(3), 3-(ii), 4-(iv) B)  1-(ii), 2-(iii), 3-(1), 4-(iv)
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General Instructions :

Read the following instructions carefully and follow them :

(i)
(ii)
(iii)
(iv)

(v)

(vi)

(vii)

(viii)

(ix)

This question paper contains 34 questions. All questions are compulsory.
Question paper is divided into five Sections — Sections A, B, C, D and E.
Section A — question number 1 to 21 are Multiple Choice type questions. Each
question carries 1 mark.

Section B - question number 22 to 27 are Short Answer type questions. Each
question carries 3 marks. Write answer to each question in 60 to 80 words.
Section C - question number 28 to 30 are Long Answer (LA) type questions.
Each question carries 8 marks. Write answer to each question in 300 to 350
words.

Section D — question number 31 to 33 are Source-based questions having three
sub-questions. Each question carries 4 marks.

Section E — question number 34 is Map-based question that includes the
identification and location of significant test items. This question carries
5 marks. Attach the Map with the answer-book.

There is no overall choice. However, an internal choice has been provided in
Sections B, C and D of question paper. A candidate has to write answer for
only one of the alternatives in such questions.

In addition to this, Note that a separate question has been provided for
Visually Impaired candidates in lieu of questions having visual inputs, Map
etc. Such questions are to be attempted by Visually Impaired candidates only.

SECTION A

(Multiple Choice Type Questions) 21x1=21

Match the Leaders of the Revolt of 1857 (List I) with their Centres
(List IT) and choose the correct option from the following :

List I List I1
(Leaders) (Centres)
1. Nana Sahib (i) Awadh
2.  Kunwar Singh (i1) Kanpur
3. Wajid Ali Shah  (iii) Bihar
4. Birjis Qadr (iv) Lucknow
Options :
(A)  1-Gii), 2-(3), 3-(i1), 4-(1v) B)  1-(G1), 2-(dii), 3-(1), 4-(Gv)
(C)  1-Gv), 2-(i1), 3-(ii), 4-(1) (D)  1-(), 2-(iv), 3-(i1), 4-(iii)
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2. faefahaa fomeut & @ gfaam 991 & e & Tafiss wRur 6 gg=H i

(A) ITdi o AMEA o 7T Wb faemdt feema i e
(B) WS % HIEAH © WA oh [IHTSH o HEi ohl A
(C) 3T o ©1A WRA <hl TIdAT <hl AT W STa=id ]
(D) TFdd YA o EF & foiv Teh AEE GRS
8. fTrfafaa @ @ ‘Trag g | TSI g AN hl T aanl Jumelt hi Jrerfieh
Torrar sy oft 2
(A)  SHIERT % ATeAH § STseas Tored et
B) 7IH hl HH[ah TATH
R B AN S S
(D) HHEAT B FGH & I | JagrRT i &l
4. %Y 11 ¥ fou mu afggm avm o G i qfieseti 1 w9 I H fou MU 39k i
g e hifse

Ty I Tyl
(G5 (alaer Gur 7 gfae)
1. e e (i) & ISR
9.  THE.TA. @il (i)  GfFa™ 997 & AT
3. AR 8% (ifi) GaHTh TATEHRR
4. U TG (iv) @fagm a9 o 3299 Teara uiid fohan
Torepe
(A)  1-(1), 2-(ii), 3-(ii), 4-(iv) B)  1-(ii), 2-(iv), 3-(i), 4-(iii)
(C)  1-(iii), 2-(1), 3-(ii), 4-(iv) D) 1-(ii), 2-(1), 3-(iv), 4-(iii)
5. Tmafafed O & oF 9T TdT SO o SgRaTel o 9g | i o ?
(A) T TR foeteh (B) Tl ATSAd T
() fafm =g (D)  TIITe HT T
6. 1857 = fagig ¥ wafYd FfiRagd Iea1Ti hl hicishitieh shH H ST hifoTq
3 frafafiga & 9 9t faeeq <1 =9 Fhifse

I. 3799 H THYYd dgaw

II. 3799 § 98 914

111, faferm sfés 6 garard fifaar
IV.  STSHTG JIYol

Torehey
(A  ILIILL I IV (B) IILIL IV, I
(C) LTIV, II (D) IV, L II III
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2. Identify the primary reason behind the formation of the Constituent
Assembly from the following options :
(A) To establish a legislative body for the governance of provinces
(B)  To settle issues of Partition of India through coordination
(C) To negotiate the terms of India’s independence with the British
(D) To draft a framework for the governance of independent India
3. Which of the following was the primary characteristic of the Ryotwari
system implemented by the British in ‘Bombay Deccan’ ?
(A) Indirect revenue collection through zamindars
(B)  Collective ownership of land by village community
(C)  The Britishers settled revenue directly with the peasants
(D) Lands were given to the Jotedars to promote equality

4, Match the roles of the members of the Constituent Assembly given in
Column II with their names in Column I :

Column 1 Column I1
(Members) (Role in the Constituent Assembly)
1. Rajendra Prasad (i)  Chief Draughtsman
2. S.N. Mukherjee (i1) President of the Constituent Assembly
3. Jawaharlal Nehru (iii)) Constitutional Advisor
4. B.N. Rau (iv) Passed the Objectives Resolution in the
Constituent Assembly
Options :
A 1-(G), 2-(i1), 3-(11), 4-Gv) (B)  1-G1), 2-(v), 3-(1), 4-(iii)
(C)  1-Gii), 2-(1), 3-(i1), 4-(iv) (D)  1-G1), 2-(1), 3-(iv), 4-(iii)

5. Who among the following belonged to the group of ‘Moderates’ of the
Indian National Congress ?
(A) Bal Gangadhar Tilak (B) Lala Lajpat Rai
(C) Bipin Chandra Pal (D)  Gopal Krishna Gokhale
6. Arrange the following events regarding the Revolt of 1857 in
chronological order and choose the correct option from the following :
I. Summary Settlement in Awadh
II. Subsidiary Alliance in Awadh
III.  Reforming policies of William Bentinck
IV.  Azamgarh Proclamation

Options :
A ILIILILIV (B) IILILIV,I
C) LIILIV,1I (D) IV, L 1II,III
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10.

11.

= a1 e fou MY E, Ifreed (A) 3R HRW (R) | 3w SIEE® gy HK
&l Taehed 1 =R—F <hIfST ;
SYFHYT (A) : TETHTN Seiekd U JHieR TS AN bl 3T &l ol 9T 3R
SR ThH Sed] T8 |
FRU(R): T TG (FT) & ATIR, I Hivaa ai@ =1 ¥ ot
BN dF WA A8 ST o A sier Ao s fen o
ehT AT |
(A) AR (A) IR SR (R) AT F&t 8 N BRU (R), AlTHeH (A) i
g AT AT § |
(B) 3AHHAA (A) AR HRU (R) QHI Hal &, W HRT (R), I(WHA (A) I
HE AT 7@l Ll ¢ |
(C) TR (A) E& 8, T %Rl (R) Teid & |
(D) SAfYHAT (A) Tad &, Tg SR (R) & 2 |

3TheR o IMEA H YU o Tl o a9 H HfIRgd #§ § SH-91 SISl Tl

guferd 8 2

(A) TS S8l G Tt st off |

(B) WA SRl i au g Wl Agl 6 TS |

(C) == STEl Tk 9N ¥ @l 781 i TS |

(D) S STEf o 9Nt & @t T8l I TS |
fIRad ¥ § fope TS 1 ‘Sl THSTY el Al o1 2
A) ==X (B) g

©) =< (D) fooRAR

31 ST 4 ARG I IS h R TRE Y@ IR P TH F I, TR
ATETE! ITAT qAT URA § Tl 7T &ara |

(A)  QeAdmETg (B) 3

(C)  <heaehall (D) feeeht

ffafiea o @ g onfeamet e 3 16 R 17d vaed & SRE g
ATHTST T 1] THE ST R Agequl yfient 9 2

I. qTe | g

II. 399 ¥ 328M

[II. &7 H %=

Iv. fogym o %A

ﬁm :

(A) I, II 3R IV (B) I, 113 III
(C) LIIsRIV (D) I, I3 IV
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7. Two statements as Assertion (A) and Reason (R) are given below. Read
them carefully and choose the correct option :

Assertion (A) : Zamindars in the Permanent Settlement failed to pay the
revenue demand and unpaid balances accumulated.

Reason (R):  According to the Sunset Law, if payment did not come in
by sunset of the specified date, the zamindari was liable
to be auctioned.

(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is
the correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are correct, but Reason (R) is
not the correct explanation of the Assertion (A).

(C) Assertion (A) is correct, but Reason (R) is incorrect.
(D)  Assertion (A) is incorrect, but Reason (R) is correct.

8. Which of the following pairs is correctly matched regarding the
classification of lands under Akbar ?

(A) Polaj :  Land which was cultivated annually.
(B) Parauti : Land uncultivated for five years.

(C) Chachar : Land left uncultivated for a year.

(D) Banjar : Land laid fallow for three years.

9. Which of the following empires was called “Karnataka Samrajyamu” ?
(A) Chera (B) Pallava
(C) Chola (D) Vijayanagara

10. During Ibn Battuta’s travels in India, which prominent city did he visit
and describe as ‘a vast city, with a great population, the largest in India ?

(A) Daulatabad (B) Agra
(C) Calcutta (D)  Delhi

11. Which of the following tribal kingdoms exerted considerable influence
and played a significant role in the Mughal Empire during the 16t and
17th centuries ?

I. Lohanis in Punjab
II. Ahoms in Assam
III. Koch in Bengal

IV. Kols in Singhbhum

Options :
(A) II, III and IV (B) I,II and III
(C) I IIandIV (D) I, IlIand IV
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12.

13.

14.

15.

ek T 1 gfd I |

fasemr Y vimferss feafa & fawe 4 =@ =i ot a2 T4,
S IW-gd feun # sEdt @, g J@l HiHd T JTehide $US o |

A) T (B) g

(C) (D) g

fafaRad SR i Terdl | @ Fogen oifeen & sy &t ugem
Hifvre

o JE HLIHIA % Teh HEH hid R AIIAHR o |

o T fuvdl wwn U I w9 e |

o  SQiA ShedTall hi IEITA i |

(A)  &TE1 Bilg (B) g1 TS &
(C) IR g&u D) R s

“qd o dfvem i qeAT wd g fEfaiad § 9 fopden! Hiean SRR |
YT g gfuq TR 2

(A) g9 XIV (B) =meH IX

C) T8 IX (D) Tofera 11

A<l WU I ‘A’ IR 3Afehd TTEHTCH TS shi Ig=e shifse, 3R FHefaRad
i @ ¥gt fashey o1 wed HIfT

A

(A) e B) e
(C) = (D) 378

HETfAIEd 3797 @acT giteatieaa qagnfaal & 77 3. 4. 15 & €7 W& :

frafaRad § @ SH-81 QU WO, 7e9 Yoo § @ 7 2
(A)  FTTSFhIUST (B)  mEsh st &l
(C) @rsd (D) !
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12. Fill in the blank.
The most striking feature about the location of Vijayanagara was the

natural basin formed by river which flows in a north-easterly
direction.

(A) Narmada (B)  Godavari

(C) Kaveri (D) Tungabhadra

13. Identify the disciple of Shaikh Nizamuddin Auliya with the help of the
following information :

o He was a great poet and musician of medieval period.
o He gave a unique form to Chishti sama.

o He introduced qawwali.

(A) Baba Farid (B) Data Ganj Bakhsh
(C)  Amir Khusrau (D) Ziyauddin Barani

14. To whom among the following did Francois Bernier dedicate his writing
“Comparing East and West” ?

(A) Louis XIV (B) Charles IX
(C) LouisIX (D)  Phillip II

15. Identify the structural feature marked ‘A’ of Sanchi Stupa and choose the
correct option from the following :

A

(A) Harmika (B) Yashti
(C) Chhatri (D) Anda

Note: The following question is for the Visually Impaired Candidates, only in
lieu of Q. No. 15 :

Which one of the following stupas is located in Bhopal, Madhya Pradesh ?
(A) Nagarjunakonda (B)  Shahji-ki-Dheri
(C) Sanchi (D) Amaravati
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16. T I a™ w9 119 hifSu 3R T&l faehew &1 === Hifv

&y [ Ty Il
(9T He) (€)
1. e (i)  afHeTg
2.  HEEAIH (i) ~ TENTSE
3. hoawE (i) To@R
4, TR (iv) ST e
IEETR

(A 1-(1), 2-(ii), 3-(iii), 4-(iv)
(B)  1-(ii), 2-(iii), 3-(iv), 4-(0)
(C)  1-(iv), 2-(i), 3-(ii), 4-(iii)
(D) 1-@i1), 2-(1v), 3-(1), 4-(i1)

17. BSWI o [4dig & dlishl & a1 ¥ Ffcifad & 9 sH-a1 2F 98 787 8 2
(A)  ThH i @ 59 It < vfaey (Jun gugfaar) Jars @i 5Ra @ |
(B) THIV W & @371 o ¢l T &I BaA! o MY A hl 3T Hid & |
(C)  STHMFRA™, IS | T80 o a9y ey |
(D) Tag ¥ = & fow T8t S et § |

18. I <1 geaeh ‘s7eereyry! ffaiiad H & fpe fawer @ emania 7 2
(A) g (B) TR
(C) TIfvrG (D) faforcan (311g4g)

o o 0

19. fr=fafga Sl 6 gerar @ A a9 6 989 HINT

e IR WF °N % Tk I fohu |

o UIITEd & WeAW | FET & 3fcgrd w1 qAfmir foham S wehar 7 |
o BN T Uk AW & J&T &N Hia o |

(A) = o (B) HIqaTE o

(C) WU & (D) W
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16.

17.

18.

19.

Match Column I with Column II and choose the correct option :

Column I Column I
(Ancient Temples) (Locations)
1 Deogarh (1)  Tamil Nadu
2 Mahabalipuram (i1)  Maharashtra
3.  Kailashnatha (iii)  Bihar
4.  Barabar (iv)  Uttar Pradesh
Options :

A  1-(), 2-(i1), 3-(ii1), 4-1v)
(B)  1-(i), 2-(iii), 3-(iv), 4-(1)
(C)  1-(iv), 2-(1), 3-(i1), 4-(iii)
(D) 1-(iii), 2-(iv), 3-(1), 4-(ii)

Which of the following statements is not correct about the subsistence

strategy of Harappa ?

(A)  Terracotta sculpture of oxen indicates ploughing.

(B)  Two sets of furrows at right angles indicate two cropping patterns.

(C)  Traces of canals have been found at Shortughai, Afghanistan.

(D)  Deep water reservoirs have been found in Sindh for irrigation.

Panini’s book ‘Ashtadhyayi’ is based on which of the following themes ?
(A) Puranas (B) Grammar

(C) Mathematics (D) Medicine (Ayurveda)

Identify the ancient dynasty with the help of the following information :

o They issued spectacular gold coins.
o Their history can be reconstructed through Prashastis.

o Harisena was the court poet of one of its rulers.

(A)  Chola dynasty (B) Satavahana dynasty
(C) Kushana dynasty (D)  Gupta dynasty
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21.

22,

23.

24.

25.
26.
27.

0 gy § Heied FfaRiad el i ufey :

I. 1Y o ok o HTU-ATy HR SHSA I 367 53 |
II. S5 5, HE |y o G99 9 |

III.  hifeed g U & SAufessr o |

IV. 3T S50« 0 o 97 9 |

9

%

I9Y § ° -9 HIH TE & ?
(A) I3 III (B) I3 II
(C) TIII3IR IV (D) II3TW III
‘T W1 37TF FOSTT MBIl & % @ MHARgd H § i g ?
(A) I °EIA (B) AT UH FIEA
(C) THEEE. g (D) 3TN.3.UH. Sglel
T e @
(g -3ITT ThR & I97) 6x3=18

(%) ToSITR 9T % WS ok 9 H HWCT [ Hl YR w1 faverwo
HIfTT |

HAAAT

(@) TR asa & 81 R JemEfe g | TR AR Jurelt’ s W

I |

“Torifaes SR STfYeh skiem® &1 QU I 71 SAfYorg I ¥ &l fHerar g 17
Y hF <hl AT 3TN Figd hifoly |

(%) SIS TAfY i Tk weawd foafd =i gl Il 8 2 T8 Hif |
HAYAT

(@) w1 i S Feprt womedt w1 A TR Fqul =41 91 S 7 ? T
HIfTT |

Tl THTST H STt & Sitad o1 fageror Hifg |
1813 <h! di=ai FUIe hl THTAHTCHS 9@ hiTT |
1857 o fagig 1 Tfd I Sfad W= H el 3R Alfecd i {1 &1 FuH

HifvT |
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20.

21.

22,

23.

24.

25.
26.

27.
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Read the following statements about the Mauryan Empire :

I. The growth of Magadha culminated in the emergence of the
Mauryan Empire.

I1. Chandragupta Maurya founded the Mauryan Empire.

III. Kautilya was the successor of Chandragupta Maurya.

IV. Asoka was the son of Chandragupta Maurya.

Which of the above statements are correct ?

(A) TandIII (B) IandlII

(C) IIIandIV (D) II and III

Who among the following is the author of the book ‘The Story of Indian
Archaeology’ ?

(A)  John Marshall (B) Daya Ram Sahni
(C) S.N. Roy (D) R.E.M. Wheeler
SECTION B
(Short-Answer Type Questions) 6x3=18

(a)  Analyse the role of Krishnadeva Raya as the ruler of Vijayanagara
empire.

OR

(b) Examine the ‘Amara-nayaka system’ in the military and
administrative structure of the Vijayanagara empire.

“The epigraphy alone does not provide a full understanding of political
and economic history.” Explain the statement with examples.

(a) Why is the Harappan script called an enigmatic script ? Explain.

OR

(b) Why is the Harappan drainage system considered a planned and
complete drainage system ? Explain.

Analyse the life of forest dwellers in the Mughal Empire.
Critically examine the Fifth Report of 1813.

Describe the role of art and literature in keeping alive the memory of the
Revolt of 1857.




28.

29.

30.

31.

Qug T
(Srd ST T & T9) 3x8=24

(%) “Slagm@eri 7 TEIYRG $Id o QA JIRATEh de o g =991 3R
fafi wemett o1 e fham 3 17 39 a9 h Seren afgd srem

HIT | 8
AT
(@) “vu fafvw o & 59 W 3fagmerl 3 a8 o1 favemor fmn g iR
Y Uk TRl Y kel 2 |7 38 e <hl 3@ 9igd saredn $Hifsu | 8
(%) USRI 9Rd T JAAGR 3 TN R I fobu MU 9k Agreq 6l
fomrare =1 Ui i | 8
HAAAT
(@) whrETE i Rrersti 3R g1 1 Jui HiT | 8
(%) “HP TREAWE I SHAT I AT FET AGeH T 9 o & forw Ifa
ot |7 39 Y9 I =TIETa 38T | 8
roran
(@) “IrEgan IGIaE Sl "hAdl H S 9rfiert 4 Heeaqul itk fve |17
39 HYF Tl AT 38U | 8
wus ¥
(TTa-SaTRE T9T) 3x4=12
feu U |ia 1 eEYEs 9fer R = KT T gl % I ST ¢ 1+1+2=4
TR & fowa o foemd @1 i 1 wer

YRA o faw § f=mi &1 g9 3R TR & U A6R1 o6 Jardi 5 36
J&hl < TSI 3R JER o HIEAH H AU AN o fAT HRd i Th B9 h
g5 H HETIdl i | 91g H, 1750 % 916, 9 3@ saqged a1 Tl g arfes
S WRAR A AT AR A 5 UG AN I AR THS hl S HT
AT ST U1 3T 3314 a2l <hl U] 3T Ul o AISH § 36 YHifad
FH w1 YA TR 3R YRA ol WgH TS S |
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SECTION C
(Long-Answer Type Questions) Ix8=24
28. (a) “Historians have studied many rules and varied practices of
familial ties during the Mahabharata period.” Explain the
statement with examples. 8
OR
(b)  “There are various elements on which historians have analysed
Mahabharata and called it a dynamic text.” Explain the statement
with examples. 8

29. (a) Describe the features of the Bhakti Movement led by the Alvars

and Nayanars in medieval India. 8
OR
(b)  Describe the teachings and practices of Sufism. 8

30. (a) “The Salt Satyagraha inspired masses to participate in the Civil

Disobedience Movement.” Justify the statement. 8
OR
(b) “Mass participation played an important role in the success of
the Non-Cooperation Movement.” Justify the statement. 8
SECTION D
(Source-Based Questions) Ix4=12

31. Read the given source carefully and answer the questions that follow :
1+1+2=4

The creation and circulation of ideas about India

The writings of European travellers helped produce an image of India for
Europeans through the printing and circulation of their books. Later,
after 1750, when Indians like Shaikh Itisamuddin and Mirza Abu Talib
visited Europe and confronted this image that Europeans had of their
society, they tried to influence it by producing their own version of

matters and described India as a great nation.
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32.

(31.1) Y@ sfage R firstt oy aiferd 3 wra & wfd JUdT Teheor =l

fehd SRR I &1 ? 1
(31.2) WEIHRIH WRd W JUIE w@ehl gl for@ll T8 forelt T qeaeh I

3qBT 1T | 1
(31.3) JUMUAT GRI T*qd HRA hl B TR AR o TR o s Fgwqul

AR o T HINT | 2
feu U @iq 1 ey afer o = fgu T gwHt % 3w e 1+1+2=4

B Tsh TaA T9Y TURSY hl TATHT 1 ¢¢ TR Ui Hehed forll & | WRA o1
Ty BT o 2 | S5 Taad BT 3R TURSY gFT Ht wWwiiaeh B | B9
it 3 "ot Io™ B ¢ “SNuA g Arehdieh veg 1 8l W@n 27 BA I8 el
7 Top T o8 @ 51 wehar ® T6 18 TORST Alehdltieh 7 81 TG gHI U
sfagTe 30 qed o1 @ieft B foF 1 cArehartes Teamsti & & U § | Tt 8
5 2T &g Ahad § | <ihad & A F© Ht T | T8 Alhad w1 B,
3Gh! T[T LA hel BT, T8 Teh AT HHA & | TS o AlehelAl A GHAT <hl
T | SeRGEd Y[Heh WIS 8 3R 34 ¥ 9gd 91 Y a1 3 TIH & o
8 | Tg Ig TCESoh Bl Tehdl @ Toh 3T 3¢ T HE Alhdlh &4 @1 8 dl A
ST el 34 TAlehAl ol T Tl - ! g S TSl | H AT KLl 5
Tor Tort) SR SAThdI=eh <31 <hl Uesh W Alehdi=eh JurTelt AT fordl T foaws
%! B0 9% Fha HE I1 TG 8 | B Tohdl § foh g0 ITH SEN FB & ¢ |
gtET, fret ot g@ #, g0 78t S =R TR s, 98 gAR Al % T
% ITET IR ITeh! TRR TEL BT AT | §H Alhad o &b H & | I8 39
TG ol T DA g Toh 30 SAlehad, IUIAH AMhad 1 Ta&Y Hal T | T 39
9Td <l <@ Gohdl @ JUMY 39 Y&d1d H BH “lehdiieh . e¢ <kl SEIATA gl
fopaT 3 FIfer B0 o b I8 I Tamvifaes &l @ for “rrsy” e § U% Wise
Tgd & Tifgd giar 8 | 39fiC g9 IFavas MR STUARN Seal 1 YN g
ST IEd ¥ | 894 ecl oh IYANT " © kel sAel a4 fear 2 | g 3w
TEAd H ARRAA i Tqae] TEd hl g | Sfcsh Alehdd ohl &l Agl, ATAeh
AR <hl 3Tddeq T&d i 2 |

gid : Glaen Ty7 987 (CAD), @ 1
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32.
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(31.1) In what way did Shaikh Itisamuddin and Mirza Abu Talib
challenge the version of Europeans towards India ?

(31.2) Give any one example of a book authored by European writers on
Medieval India.

(31.3) Explain the significant difference between the image of India
presented by Europeans and the versions of Indians.

Read the given source carefully and answer the questions that

follow : 1+1+2=4

We say that it is our firm and solemn resolve to have an independent
sovereign republic. India is bound to be sovereign, it is bound to be
independent and it is bound to be a republic ... Now, some friends have
raised the question : “Why have you not put in the word ‘democratic’
here. ?” Well, I told them that it is conceivable, of course, that a republic
may not be democratic but the whole of our past is witness to this fact
that we stand for democratic institutions. Obviously we are aiming at
democracy and nothing less than a democracy. What form of democracy,
what shape it might take is another matter. The democracies of the
present day, many of them in Europe and elsewhere, have played a great
part in the world’s progress. Yet it may be doubtful if those democracies
may not have to change their shape somewhat before long if they have to
remain completely democratic. We are not going just to copy, I hope, a
certain democratic procedure or an institution of a so-called democratic
country. We may improve upon it. In any event whatever system of
government we may establish here must fit in with the temper of our
people and be acceptable to them. We stand for democracy. It will be for
this House to determine what shape to give to that democracy, the fullest
democracy, I hope. The House will notice that in this Resolution,
although we have not used the word “democratic” because we thought it
is obvious that the word “republic” contains that word and we did not
want to use unnecessary words and redundant words, but we have done
something much more than using the word. We have given the content of
democracy in this Resolution and not only the content of democracy but
the content, if I may say so, of economic democracy in this Resolution.
Source : CONSTITUENT ASSEMBLY DEBATES (CAD), VOL. 1




(32.1) @A H 3k G¢ IR Ul Fhed I Ig@ chiT | 1

(32.2) GId fpE TR Alhdd o Ifd Ufdeigdl W 9 a1 & ? 1

(32.3) 3H GId H Alhdd hl <ATEAT UGS & G | fory Jepr <Al T8 3 2 2

33. feu v i 1 eamgde ufgu e S fer e ywEt W 3 @ 1+1+2=4
Frafaard str Hifaemard: 2

Tl g9 g7 [92% W {o 1 791 g2 § @ & | 3EH WY o Tl IFSTaey R §G
o off STl 1 oo fepem T R

Teh 91 TS ATGHY g o I T AR I8H AFGA TMETA AMHS Teh A
ﬁﬂ%ﬁaﬂﬁﬁﬁﬂé

“Frarteh gigH™ @ I8 fova™ d & 6 39 90 9. 59 e g # %y
e Sh&TT... [ 37g1 13l ol hich dR-&R A Fhh i IFHIE HET | gHI § 4
ﬁé@ﬁﬂ%@@aﬁig@'w@ﬁaﬁwﬁmwmﬂﬁ%l
Y TR | dedl -IslTrlTHOde |3ﬁqe|q|mu¢|q| T8 ST Fehd |ﬁﬁﬂTﬁ6h‘r
AT heh ¢ T Geohd-qgeehd T T TS Toh Gordl Sl g 381 g q@ 3R
ﬁgﬁéﬁﬁt@ﬁﬂfﬁamﬁﬁﬁﬁ@gzﬁwﬁaﬁﬁl”

3R 3TSAA hHehaTo THe e I8 IUSI TG

‘%W"q’ﬁ,aﬂma‘@’mﬁﬁws <9 & BN .. 39 gHET A1 gEd
g S g = A= B

A =R awdi 8 91 81 @ | 59 98 WAl g a« Hgl arer 3791 geat §, 5
AT I A H, TH FIAT A AW H, HiH HI W aY H 9" WA S B
ﬁwﬁg@maﬁﬁaaﬂﬁwaﬁaﬁ%

TF ¢ <l 91 @I 1 MG 7, @EAl 93 & ... §@ &l A1 fagH qHl & e

H AL B I 8 | Geg o 91G his gl s=dl |

A TRITY o 3YeIh 3TTS(Ideh GIU & I | 38 SThEX HAMAATE! THal S
7 — U A Sl fova™ d 9 76 99 $® g9 a3 | Tgde T o 3ucerh
ARREId TOU & 9 T grama: Wifderdardl shet Jrdn 2 | §9 eRifaes Wast
T TS B MU ¢ | TEMTU g1 o WueT § & 3 9N § T fierd § |

(33.1) HH R AFGA A o feoami o1 fagetwor SHifsme | 1
(33.2) TSI hEhATH A AT 1 TYhid o =R Tl o a1Y T i fopd
YR afefq femam 2 1
(33.3) gﬁ?ﬁ%@ﬁﬁaﬁaﬁaﬁxﬁﬁmﬁ%ﬁaﬁﬁﬁmw
| 2
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(32.1) Mention the ‘firm and solemn resolve’ expressed in the passage. 1
(32.2) How does the passage emphasize the commitment to democracy ? 1

(32.3) How is democracy explained in the context of republic in the
passage ? 2

33. Read the given source carefully and answer the questions that follow :
1+1+2=4
Fatalists and materialists ?

Here is an excerpt from the Sutta Pitaka, describing a conversation
between King Ajatasattu, the ruler of Magadha, and the Buddha :

On one occasion King Ajatasattu visited the Buddha and described
what another teacher, named Makkhali Gosala, had told him :

“Though the wise should hope, by this virtue ... by this penance I will
gain karma ... and the fool should by the same means hope to gradually
rid himself of his karma, neither of them can do it. Pleasure and pain,
measured out as it were, cannot be altered in the course of samsara
(transmigration). It can neither be lessened or increased ... just as a ball
of string will when thrown unwind to its full length, so fool and wise alike
will take their course and make an end of sorrow.”

And this is what a philosopher named Ajita Kesakambalin taught :

“There is no such thing, O king, as alms or sacrifice, or offerings ...
there is no such thing as this world or the next ...

A human being is made up of the four elements. When he dies the
earthy in him returns to the earth, the fluid to water, the heat to fire, the
windy to air, and his senses pass into space ...

The talk of gifts is a doctrine of fools, an empty lie ... fools and wise
alike are cut off and perish. They do not survive after death.”

The first teacher belonged to the tradition of the Ajivikas. They have
often been described as fatalists : those who believe that everything is
predetermined. The second teacher belonged to the tradition of the
Lokayatas, usually described as materialists. Texts from these traditions
have not survived, so we know about them only from the works of other

traditions.

(33.1) Analyse the views of Makkhali Gosala on karma. 1

(33.2) How did Ajita Kesakambalin describe the relations of human
beings with the four elements of nature. 1

(33.3) Differentiate between the views of a Fatalist and a Materialist in
reference to this source. 2
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TUE §
(e -amenfa uvd)

34. (34.1) WRAh fCU U TSI WI-AFRS (T8 23 W) |, ffakad i
3 Tl § 3ifeha hIfTT 3R 3 A Toaifaw - 3x1=3

(i) 9IAERT - Teh faehiad g0 qUesd

(i) IS - TESHIG

(i)  (F) YU - Al o 31efF &
HAAAT

(iii) (@) TIARIET

(34.2) WRA % TH TSI TWI-AMRE W YA TSR STTeq & Faferd Qf

*gl @ A 3 B ¥ 2Afehd fham M 2 | 3R dgEHU 3R 3 fehe
it 78 Warst W Ha AW ffEu |

HE7(TiEa 3797 @acT glteaniara qaemaal & 77 3. d. 834 & &7 W& :

(34.1) ST I o fehrgl Q1 JURAAT ol Ioai@ i |
(34.2) (%) Tl & 1efi Tl wh & +1 e HIVT |

HAAAT

(34.2) (@) TaoITR au=T & fhdll T TS T H1 Ieai@ HINT |
(34.3) MR TS TSI o fohegl Q1 gl ohl Iooid hifaTy |
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SECTION E
(Map-Based Questions) 5

34. (34.1) On the given political outline map of India (on page 23), locate
and label the following with appropriate symbols : 3x1=3

(i) Dholavira — A Matured Harappan site
(i1) Ujjain — Mahajanapada
(iii) (a) Panipat — Territory under the Mughals

OR
(iii) (b) Golconda
(34.2) On the same outline map, two centres related to the Indian

National Movement are marked as A and B. Identify them and
write their correct names on the lines drawn near them. 2

Note: The following questions are for the Visually Impaired Candidates,
only in lieu of Q. No. 34 :

(34.1) Mention any two Harappan sites. 2
(34.2) (a) Mention any one territory under the control of the Mughals. 1
OR
(34.2) (b) Mention any one neighbouring state of the Vijayanagara
empire. 1
(34.3) Mention any two centres of the Indian National Movement. 2
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I H. 34 % fow For question no. 34
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Outline Map of India (Political)
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